Formula Solutions to Assignment #3

1). 

a) [1+(20+(1/10) times the first two digits of your ID) %]1/12-1
b) 12*{[1+(20+(1/10) times the first two digits of your ID) %]1/12-1}
c) [1+(20+(1/10) times the first two digits of your ID) %]10-1
d) (1/10)*{[1+(20+(1/10) times the first two digits of your ID) %]10-1}
e) [1+(20+(1/10) times the first two digits of your ID) %]350/365-1

2). First, find the implied effective rate, which is 

Rq=(1/4)*(24+(1/10) times the last two digits of your ID)% per quarter
a) (1+Rq)1/3-1
b) ((1+Rq)2-1)*20
c) (1+Rq)40-1

3). First, find the implied effective rate, which is Rm= (1/12)*(12+(1/10) times the first two digits of your ID)% per month. Find R5m, the effective rate per 5 months, which is R5m=(1+Rm)5-1. There are 6 annuity payments and the first payment comes after 2 months. So the present value today is 10000/R5m*(1-1/(1+R5m)6)*(1+Rm)3 . Or, use a financial calculator with N=6, r=Rm, PMT=10000, FV=0, calculate PV and multiply PV by (1+Rm)3
4). Find the implied effective rate, which is

Rm=(1/12)*(8.5+(1/100) times the last two digits of your ID)% per year.
a) 30000*Rm/(1-1/(1+Rm)60). Or, use a financial calculator with N=60, r=Rm, PV=30000, FV=0, calculate PMT.
b) 30000*Rm
c) 30000*Rm/(1-1/(1+Rm)60)-30000*Rm
d) {30000-[(30000*Rm/(1-1/(1+Rm)60)-30000*Rm)]}*Rm
e) [30000*Rm/(1-1/(1+Rm)60)]/Rm*(1-1/(1+Rm)30)

5) Use a financial calculator to do all the calculations. 

First row, N=6, r=0.5*6.000000%, PMT=1000*CR1*0.5, FV=1000, calculate PV

Second row, N=8, PMT=1000*8.600000%*0.5, FV=1000, PV=-(1,000+the first two digits of your ID), calculate r, multiply r by 2 to get Yield to Maturity.

Third row, N=10, r=YTM3*0.5, PMT=0, FV=1000, calculate PV

Fourth row, N=20, r=7.250000%*0.5, PMT=1000*CR4*0.5, FV=1000, calculate PV

Fifth row, r=7.299989%*0.5, PMT=1000*CR5*0.5, PV=-1055.33, FV=1000, calculate N. Divide N by 2 to get maturity in years.

Sixth row, N=30, r=YTM6*0.5, PV=-1200, FV=1000, calculate PMT. Divide PMT by 500 to find the coupon rate.

6) $100000/[1+(11+(1/100) times the last two digits of your ID)%]38/365

7) First, find the effective rate per quarter, which is 

Rq=[1+(9+(1/100) times the first two digits of your ID)%]1/4

Price per share is $0.50/Rq

8). ($0.50/Rq)*(1+Rq)2/3

9) First, find the quarterly effective rate, which is

Rq=[1+(25+(1/10) times the last two digits of your ID)%]1/4
Next, find the present value today of the dividends in the 1st growth stage, which is equal to $1/(Rq-0.04)*(1-(1+0.04)16/(1+Rq)16))/(1+Rq)11

And the present value today of the dividends in the 2nd growth stage, which is equal to

($1*(1+0.04)16/(Rq-0.01))/(1+Rq)27

Then we add up the two present values to get the price per share of Ridley.
Another method is to group the dividend on the 28th quarter into the 1st growth stage. In this case, the present value today of the dividends in the 1st growth stage is equal to $1/(Rq-0.04)*(1-(1+0.04)17/(1+Rq)17))/(1+Rq)11. The present value today of the dividends in the 2nd growth stage is equal to 

($1*(1+0.04)16**(1+0.01)/(Rq-0.01))/(1+Rq)28
Then we add up the two present values to get the price per share of Ridley.
10) Effective monthly rate is Rm=[1+(6%/2)]1/6

Monthly payment is 

$(100,000 + 1000 times the last two digits of your ID)*Rm/[1-1/(1+Rm)180].
